Problem 1:
-Use nodal analysis to find all node voltages.
-Find all the currents.

2V,

Vs
Ce + - QN.
~ 5] L,_\.m_« T
F) bn > 2V,
: o | -
©)
—W—1-

V3 =
[et's set the cathod dm the cov@.rwm Soutte

os e ?\\N\w@snﬁ Q_esa&.

@ IEQA& | <_HV<
- v

kel @ nede VHN SL\«_ +MW ~2lo=0
CO b= <_I..(.V

kce @ mode 3 mﬁmwfwlmwg
Solue for node 2 : Va=b6V.

Solve for mode 3. V3= oy
.ﬂ.“ﬁ\ﬁm\?@ C_“Vp\ ; V= bv , __\W.\,V_\
For +he cwiret s

C =V =

La S0 /A

o = F_\% +2(UVa)= 3A

rf ) <|<w

5 .-9\ = |A

. = <_|\<W e iy

ve o= TA

b= = Lis+le)= — Y A not right

i1= -(i5+i6+1/6)= -2A


Frank
Rectangle

Frank
Typewriter
i1= -(i5+i6+1/6)= -2A

Frank
Typewriter
not right


Problem 2: Use nodal analysis to find all the node voltages and currents
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Problem 3: Write all the node voltage equations and put them in the matrix form. You
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Problem 4: use mesh analysis to find all the currents and node voltages.
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Problem 5:

-Use mesh analysis to find resistor currents and the all node voltages
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Problem 6: Write all the mesh current equations and put them in the matrix
form. You don’t need to solve
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Problem 7: Obtain the Thevenin and Norton equivalent as seen from a-b terminals:
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Problem 8: Obtain the Thevenin and Norton equivalent as seen from a-b terminals:
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